## SCHEDULE OF PRICES **CIVIL WORK (PART-A)**

CUNDIKUCIIUN UF SPUKIS SIAPIUM / SIAPIA @ IN KAKACHI BALDIA IUWN (MAIN BUILDING

	NAME OF WORK:-	OCTION OF SPOKIS S		A ( IN KAKACHI BALDIA IUWN ( WODE)	MAIN BUILDING
S:#	DECRIPTION OF ITEM	Qty:	RATE	UNIT	AMOUNT
1	Excavation in foundation of building bridges watering and ramming lead upto one chain &	-		around structure with excavatede earth	
		3600.00	3176.25	%oCft	11435
2	Pavement of 8" deep stone sets chisel dre	essed set in lime mortar (1	lime,2 surkhi)(P-30)		
		720.00	20631.19	%Sft	148545
3	Cement concrete brick or stone ballast 1-	-1/2" to 2" gauge ratio 1:4:	8:(P-4 / S # 15)		
		360.00	9416.28	%Cft	33899
4	bending and binding which will be paid rendering and finishing the exposed surf	seperately. This rate also in ace (including screening ar	ncludes all kinds of f nd washing of shin	of steel reinforcement and its labour for forms moulds, lifting shuttering curing gle. (A) R.C. work in roof slab, beams on complete in all respect. (i) Ratio 1:	
		14648.26	337.00	P.Cft	4936464
5	Fabrication of reinforcement for cement including cost of binding wire (also including cost of binding wire)	0 0			
		1242.49	5001.70	P.Cwt	6214544
6	Cement Plaster 1:4 upto 20'height( C) 3/	4" thick. (S.I # 11-c Page #	<sup>‡</sup> 52)		
		23047.76	3015.76	%Sft	695065
7	Providing and laying 3" thick topping co 16-d page # 42)	ement concrete (1:2:4) inc	luding surface finish	ing and dividing into panels. (S.I #	
		21836.00	4411.82	%Sft	963365
8	Providing and laying 2" thick topping co 16-c page # 42)	ement concrete (1:2:4) inc	luding surface finish	ing and dividing into panels. (S.I#	
		9462.00	3275.50	%Sft	309928
9	Two coats or bitumen laid hot using 34 l Page # 40).	bs for %Sft over roof & bli	inded with sand at or	ne Cft per % Sft.(S.I # 13	
		9462.00	1887.40	%Sft	178586
10	P/F G.I. frames/chowkhate of size 7"x2" with necessary hold fasts, filling with centools and pants used in making and fixing	nent sand slurry of ratio 1:		= = = = = = = = = = = = = = = = = = = =	
		397.00	228.90	P.Rft	90873
11	P/F G.I. frames/chowkhate of size 7"x2" site with necessary hold fasts, filling with tools and pants used in making and fixin	cement sand slurry of rati			

324.00 240.50 P.Rft 77922 12 P/F in position door and windows and ventilator for first class deodar wood frame 1-3/4" thick commercial ply veneer

12	shutters of first class deadar skeleton (H. tower bolts handles and cleats with cord	allow) and commercia	l ply wood (3 ply) on bo	oth sites i/c hold fasts, hinges iron	
		391.54	856.53	P.Sft	335363
13	First class deader wood wrought joinery iron tower bolts chocks cleats handles ar		•	ing chowkhats holds fasts hinges	
		151.23	1273.76	P.Sft	192629
14	Providing and laying tiles glazed 6" x 6" jointed in white cement and pigment ove slaurry of white cement and pigment in cutting tiles to proper profile.(P-47/S # 6	r a base of 1:2 grey cen desired shape with finis	nent mortar 3/4" thick i/d	e washing and filling of joints with	
		584.82	30509.77	%Sft	178427
15	Preparing the surface and painting with filling the voids with zink / chalk / plaste painting 2 coats with matt finish of appropriate the coats with matter finish of approximate the coats with the coats wit	r of paris mixture, appl	ying first coat premix m	aking the surface smooth and then	
		17143.76	3444.38	%Sft	590496
16	Primary coat of chalk under distemper. (	P-54 / S # 23)			
		17143.76	442.75	%Sft	75904
17	Erection and removal of centering for R. (Vertical.(P/18/S:# 19-b)	e.c. of plain cement con	acrete works of Deadar v	wood (2nd class) for	
		721.00	3127.41	%Sft	22549
18	Providing and laying 1:3:6 cement concr floor super structure including racking or		-	_	
		2264.92	13741.87	%Cft	311243
19	Providing and laying 1:3:6 cement concr in ground floor super structure including		•		
		1920.76	15771.01	%Cft	302923
20	P/F 3/8" thick marble tiles of approved q tucking of existing plaster surface etc, O over mortar base i./c filling the joints and etc complete. (P-49/S # 68-1) For new w	ver 1/2" thick base of coll washing the tiles with	ement mortar 1:3: setting	g of tiles in slurry of white cement	
		168.00	186.04	P.Sft	31255
21	Laying floor of approved coloured glazed 1:2:complete. (P-43/25)	l tiles 1/4"thick in white	e cement and pigment or	n a bed of 3/4"thick cement mortar	
	1.2.complete. (1 13/23)	998.10	27747.06	%Sft	276943
22	Glazed tiles dado 1/4" thick laid in pigme	ent over 1:2:cement san	nd motor 3/4" thick I/c fin	nishing.(P-50/S:#.38)	
		1813.84	28299.30	%Sft	513304
23	Painting Wood Work 3 Coat. (P-69/5-ii-	-c)			
		1442.00	2116.41	%Sft	30519

24	M/F steel grated doors with 1/16" thick sheeting i/c a 24)	angle iron frame 2"x2"x 3/8" and 3	3/4" square bars 4" centre to centre .(P-92/#	
	380.00	726.72	P.Sft	276154
25	P/F iron steel grill using salid square bars of size 1/2 shape at 1-0 apart equivalent fitted with screws are p			
	151.23	194.16	P.Sft	29363
26	Supplying and fixing in position iron/steel grill door with approved design and locking arrangement eml # 94)			
	921.00	231.60	P.Sft	213304
			Total Cost of Schedule Item:	17040999
	(i) (a) (b)		EXCEPT R.C.C. & FABRICATION LOW ON SCHEDULE TIEM:	5889992
			Total (i)	
	(ii) (a) (b)		LOW / AT PART ON R.C.C.	4936464
			Total (ii)	
	(iii) (a) (b)		W / AT PART ON FABRICATION	6214544
			Total (iii)	
			Total of Schedule Item:( $i + ii + iii$ )	

CONTRACTOR

EXECUTIVE ENGINEER EDUCATION WORKS-I W&S DEPTT: KARACHI.

S:#	DECRIPTION OF ITEM	Qty:	RATE	UNIT		AMOUNT
	P/L porcelain tiles skirting 4" high using					
1	approved pattern set in neat cement mort					
	floor complete in all respects as shown of	on the drawings, specif	fications and as directed by	y the Engineer Incha	rge. (R/A)	
		6325.75		P.Sft	Rs.	
2	P/A Graffiato (3/8" to 1/2" thick) the pro	=	=			
	colour chips and pigment ammonia nitro		-	-		
	bacterial & anti fuming alkali showing no change and resistant to water head of 100					
	specific gravity varies from texture to tex			nours and run dry n	1 72 110013,	
	7	,				
		6464.00		P.Sft	Rs.	
3	P/F floor of Verona marble tiles of size 1			=		
	thick bed of 1:2 grey CM setting the tiles			=		
	pigment of match the colour of tiles i/c cu	atting grtining rubbing	and chemical polishing et	c complete 1/c cutting	g tiles to proper	
	profile. (R.A).					
		467.20		P.Sft	Rs.	
		407.20		1.51	KS.	
4	Extra for using scaffolding pipes (R.A)					
		14757.34		P.Sft	Rs.	
6	Extra for steel plates shuttering use for su		g work where required wit	h clamps, bolts and	all fastening	
	material as required by Engineer / Inchar	ge (L.Q.R.)				
		20570.85		P.Sft	Rs.	
		20270.02		1.51	Tab.	
7	Difference of S/R Cement. ( <b>R.A</b> )					
	,	3345.05		P.Bags	Rs.	
				Total Cost of No	n - Schedule Item:	
		A D COTO	ACT OF CIVIL WORK (	DADT'A'\		
		ABSIR	RACT OF CIVIL WORK (	TAKIA)		
		TOTAL	L OF SCHEDULE ITEM P	'ART'A'		
		ТОТАІ	OF NON-SCHEDULE I	TEM PART'A'		
		10111	2 of Troft Bellebell II			
				G: TOTAL OF PA	ART CIVIL WORK	

CONTRACTOR

EXECUTIVE ENGINEER EDUCATION WORKS-I W&S DEPTT: KARACHI.

## SCHEDULE OF PRICES - SUMMARY OF BID PRICES

## CONSTRUCTION OF SPORTS STADIUM / STADIA @ IN KARACHI BALDIA TOWN (MAIN BUILDING R/WORK)

S:#	DECRIPTION OF ITEM	TOTAL AMOUNT (RS)
(i)	TOTAL CIVIL WORK ( PART 'A')	
( <b>ii</b> )	TOTAL WATER SUPPLY & SANITARY WORK ( PART 'B')	
(iii)	TOTAL ELECTRIC WORK ( PART 'C')	
(iv)	TOTAL SUI -GAS WORK ( PART 'D')	
	G:TOTAL RS. $(i + ii + iii + iv)$	
	= = = = = = = = = = = = = = = = = = =	

CONTRACTOR

EXECUTIVE ENGINEER EDUCATION WORKS-I WAS DEPTT: KARACHI.

	DECRIPTION OF ITEM	Qty:	RATE	UNIT	AMOUNT
l	P/L porcelain tiles skirting 4" high using approved pattern set in neat cement mort floor complete in all respects as shown or	ar, joints grouted with	h white/coloured cement	i/c curing etc. at any height and any	
		346.56	200.73	P.Sft	69565
2	P/A Graffiato (3/8" to 1/2" thick) the proceed to colour chips and pigment ammonia nitrop bacterial & anti fuming alkali showing no change and resistant to water head of 100 specific gravity varies from texture to texture	gen jelicoal on high to blistering winkling of liter per 1 & hour d	emperature on ultra violet or lifting after application rying touch dry from 4 to	lamp mixed with acrylic resin anti , resistant to accelerate weather	
		280.00	27.80	P.Sft	7784
3		with grey cement slu	arry, jointing and washing	t winding set in white cement laid over 3/4" g the tiles with slurry of white cement and etc complete i/c cutting tiles to proper	
		0.00	191.57	P.Sft	0
4	P/L reinforced C.C. 1:2:4: in following S. 28 days i/c mixing transporting, hoisting, instructions of engineer (excluding the co	placing in position in	n street form work etc cor	=	
		0.00	650.00	P.Cft	0
5	Extra for using scaffolding pipes (R.A)				
		0.00	37.41	P.Sft	0
6	Wooden Boxes providing and fixing and				0
6	Wooden Boxes providing and fixing and (L.Q.R.)				0
6 7		removing waffle box  0.00  upporting the shutteri	zes of uniform size i.e. 3'-: <b>2700.00</b>	x3'x1.75' of wooden planks 3/4" thick Each	
6 7	(L.Q.R.)  Extra for steel plates shuttering use for su	removing waffle box  0.00  upporting the shutteri	zes of uniform size i.e. 3'-: <b>2700.00</b>	x3'x1.75' of wooden planks 3/4" thick Each	
6 7	(L.Q.R.)  Extra for steel plates shuttering use for su	0.00  upporting the shutterige (L.Q.R.)  0.00	2700.00  ng work where required v	x3'x1.75' of wooden planks 3/4" thick  Each  with clamps, bolts and all fastening  P.Sft	0
7	(L.Q.R.)  Extra for steel plates shuttering use for somaterial as required by Engineer / Inchar	0.00  upporting the shutterige (L.Q.R.)	zes of uniform size i.e. 3'-:  2700.00  ng work where required v	x3'x1.75' of wooden planks 3/4" thick  Each  with clamps, bolts and all fastening  P.Sft  P.Bags	0 0 0
7	(L.Q.R.)  Extra for steel plates shuttering use for somaterial as required by Engineer / Inchar	0.00  upporting the shutterige (L.Q.R.)  0.00	2700.00  ng work where required v	x3'x1.75' of wooden planks 3/4" thick  Each  with clamps, bolts and all fastening  P.Sft	0
7	(L.Q.R.)  Extra for steel plates shuttering use for somaterial as required by Engineer / Inchar	0.00  upporting the shuttering (L.Q.R.)  0.00  0.00	2700.00  ng work where required v	x3'x1.75' of wooden planks 3/4" thick  Each with clamps, bolts and all fastening  P.Sft  P.Bags  Total Cost of Non - Schedule Item:	0 0 0
7	(L.Q.R.)  Extra for steel plates shuttering use for somaterial as required by Engineer / Inchar	nemoving waffle box  0.00  apporting the shuttering (L.Q.R.)  0.00  0.00	2700.00  ng work where required v  37.00  40.00	x3'x1.75' of wooden planks 3/4" thick  Each with clamps, bolts and all fastening  P.Sft  P.Bags  Total Cost of Non - Schedule Item:	0 0 0

ALL WALLER

G: TOTAL OF PART CIVIL WORK

EADCETIVE ENGINEER
EDUCATION WORKS-I W&S DEPTT:
KARACHI.

-

0